m LLIKA® CEPBEPHbIN CEPUM LINEA S

MHCTpYyKUMS MO MOHTaXy

5
A

Cocras wkada BbicoToiA BbicoToiA
24U, 33U 42U, 45U, 48U
Kapkac wr.
Kapkac B cbope 1
Komnnexr Ne 1 wr.
Onopa M12x90 6
ITrkeTKa 4
MapkMpoBoyHasa 52U
Komnnexr Ne 2 wrT.
MpoBop 3a3emMneHns 4
o= 30 cM pasbemHblii
M KONbL,EBOWN
HaKOHEYHUKMN
MpoBop 3a3emneHns 9
= 30 cM ¢ pa3beMHbIMU
HaKOHEYHMKaMm
3Hak 3a3emeHus 26

S




5
A

Komnnexr Ne 3 wr.

BuHT M6x15MM 10

= laika 3aknagHaa M6 | 50
Eﬂl\

N BuHT M6%20 10

N\ BuHT M4x8 10
&

Komnnexr Ne4 wr.

BuHT M6x15MM 20

= larka 3aknagHas M6 20
i

I waiba d=6 nnacrt. 20

yepHas




Cocrag aBepu neppopupoBaHHbIe T
~— Osepb 1
\ nepdoprpoBaHHas
\g] B cbope
|
il
\\j]
— Tara 1
3amok 1
‘ KpenneHwne kpyrnom 2
l—v TArM
Sco
Onopa 4
MNeTna paszobpaHHas 2
U
|
BuHT M6x20 4

G




ImK

Cocrag asepy nephopnpoBaHHbie ABYXCTBOPYaATbIE

wT.

[Bepb

E\;f nepdopnpoBaHHas
pacnalHas B cbope

C 3aMKOM

i) Uiz

S

A [Bepb
E nepdopmnpoBaHHas
pacnawHas B cbope
6e3 3amka

j] Tara




Komnnexr wrT.
- BuHT M6%20 10 14
oy
3amok 1
- KpenneHune kpyrnon 2
= TAMN
Wo)
Onopa 4
)
MeTnsa paszobpaHHas 4 6
KomnnekT GOKOBO# CTEHKU wT.
] MaHenb 6okoBas 2 4
B cbope
wr.

Kpbiwa B cbope
C 3arnyLKkammn




ImK

MEPbI BE3OMACHOCTHU

Bce paboTbl A0KHbI MPOBOAMTHLCS
McrpaBHbIM MHCTPYMEHTOM

c cobnioaeHnemM npaBus TEXHNKN
6e30nacHoOCTH.

NOPSA0K MOHTAXA

[ns cb6opkun wkada Bam notpedyeTcs
KpecToBasi OTBepTKa, raeyHblii knod 19/10.

LWar 1

PacnakoBky KOMMIEKTYOLWNX N3Aenus
Npon3BOAMUTE ClIECAPHBIM HOXOM.
Paspe3aHune ynakoBky npovsBoanTe
akKypaTHoO, 4TOObl HE MOBPEAUTL 3aLUNTHOE
MOKpbITME AieTanel B yrakoBKe.

MoHTax KpbiLn

Llar 2

Ha cobpaHHbIii kapkac yCTaHOBUTE KPbILLy

C 3arnyLKamm.

3adukcunpyTe KpbILLy NOTaRHBIMU BUHTAMMU
M6x%20 yepes noTaiHble OTBEPCTUS B BEPXHUX
4acTsx pam.

Cbopka ggepeit

Llar 3
BosbmuTe N3 KOMMIEKTa ABepu aBe 4actn
neTnn v ee OCb.




Lar 4

Ha kapkac ycTaHOBUTE NEPBYIO YaCTb NETN,
3aKpyTMB NoTanHble BUHTbI M6%20 B NnoTalHble
3aknenku Ha pamax.

[nsa cbopku aBepen ¢ 3aMKOM HEOHXO0ANUMO
BbINONHUTL LWarn 4—6.

Llar 5
BcTaBbTe 3aMOK B nocago4Hble KBagpaTHble
OTBEPCTUS, 3aKpenuTe 3aMOoK NPMXMMamMu.

LLiar 6
OI'IOpr HaBEepPHUTE Ha LWNWIbKN N YCTaHOBUTE
B HUX TAT .

LWar 7

3akpenuTte purenb Ha 3aMKe C MOMOLLBIO
6onta. HapeHbTe aganTepbl HA CTEPXHU
purens, 3akpenute rakamu. BctaebTe Tarm
B afantepbl, NpUTAHUTE GONTHI HA aganTepax.

5
A

ar7




ImK

Llar 8
[ns neepun 6e3 3aMka ycTaHOBUTE yrop,
3aKpyTMB NoTarHble BUHTbI M6%20.

Llar 9
YcTtaHoBuTe OTBETHYIO HaCTb NeTJ/IN Ha ABEepPb
BVHTAMW, KOTOPbIE BXOOAT B €e COCTaB.

Lar 10

YcTaHOBUTE ABEPU HA MOABUXHbIE YacTun
neTesb NPY NOMOLLM OCEN BXOASILLNX

B KOMIJIEKT NeTesb.

3akpoiTe asepb Ha 3aMok. Mpu NpaBmnIbHOM
MOHTaxe [IBepPb BPaLLAETCs MNaBHO,
3anmpaetcs 6e3 0CobbIX yCUInIA.

YCTAHOBKA BEOKOBbIX MAHEJIE/

LWar 11

YcTtaHoBUTE 6OKOBbIE MAHENN COBMECTUB
KPYrfible OTBEPCTUS B HUXHUX 4ACTSAX OOKOBbIX
naHesnen ¢ ronosBkaMmm BUHTOB M5 BXoasLLmMx
B COCTaB COeaMHUTENbHbIX Npodunen
(nencteue A).

3alenkH1Te naHenb, OAHOBPEMEHHO

HaXaB Ha 3aMKK-3aLlenkn (aencreme b),
nepeBeauTe A3bl4OK 3amMka B MOSIOXEHNE
«3aKpbITO».




Lar 12

Mo okoHYaHUM c60PKM YCTAHOBUTE OMNOPbI

1 BbIPOBHSANTE LWKad, OTPEryMpoBaB Nx

o BbICOTE. 3aTEM BbINONHATE
pekomMeHayemMble AeiCTBUS:

— NPOBEPLTE NCMPABHOCTb 3aMKOB, 3aMKOB-
3allenok, caenae napy UMKJI0B OTKPbIBAHUS -
3anupaxus;

— OTLUENKHUTE naHenu 60KoBbIE,
npenBapuTesnbHO OTKPbIB 3aMKW, MOBTOPUTE
onepauuio B 06paTHOM Nopsake;

— NPOBEpPbTE UMKJT CbeMa-yCTaHOBKM GOKOBOM
naHesn, OTKPbIB 3aMKM U BbIHYB NaHe b

13 Koprnyca, a 3aTeM NOBTOPUB OnepaLmio

B 0OpaTHOM NOpPSIKE.

Mpw NpaBUIbHOM MOHTaXe AaHHble onepauun
BbINOHSAOTCS 6€3 0CObbIX yCUnui

v 3aefaHnin.

LWar 13

Mo 3aBepLueHM NOAroToBKkM Lwkada

K 9KCnlyaTauumy Npon3BeanTe MOHTaxX
KOHTypa 3a3eMJieHus.

[nsa kpenneHnst NpPOBOLAOB 3a3eMJIEHNS

K MOHT@XHbIM NPODUASM UCNONb3YATE BUHTbI
M6x15 v rakn 3aknagHolie M6.
MprcoeonHnTe OAMH KOHEL, NPOBOAA
3a3eMeHns K padbeMy Ha nepegHen Asepu,
LPYron — K pa3beMy Ha BEPTUKANIbHOM
npodwune. MNosTopuTe AENCTBUS ONN
OCTaNbHbIX ABEPEN.

MprcoeonHnTe OAMH KOHEL, NPOBOAA
3a3eMJIEHNS K pa3beMy KpbiLK, APYron —

K 6nvxkaniiemMy BepTrKanbHOMY Npoduiio.
MprcoeonHnTe OAMH KOHEL, NPOBOAA
3a3eMieHns K padbemy Ha HOKOBOW

naHenu, opyrov K 6avxanemy pasbemy
BepTMKanbHOro npoduns. Nosrtopute
[ENCTBUS AJ151 OCTABLUMXCS OOKOBbIX MAHENEN.
MprcoeonHnTe OAMH KOHEL, NPOBOAA
3a3eMJIEHNS K MOHTaXHOMY NPOd U0, ApYron
K Gnuxariiemy pa3bemMy Ha BEPTUKASIbBHOM
npodwune. NMoBTOPUTE AAHHbIE AENCTBUS ONS
OCTaBLUMXCS MOHTaXHbIX Npobunen.




ImK

“ LINEA S SERIES SERVER CABINET

Installation instructions

LS05/35.001.2.IM

Cabinet composition Height Height
24U, 33U 42U, 45U, 48U
pcs

Frame assembly 1
pcs

M12x90 support 6

52U marking label 4

Set No.2 pcs

S = == | Groundwireof30cm |4

length, with split — type

and ring-type tips

Ground wire of 30cm |9
== == | |ength, with split — type

tips

Grounding sign 26

S

10



pcs
M6%15mm screw 10
M6 nutsert 50
M6x20 screw 10
M4x8 screw 10

pcs
M6%15mm screw 20
M6 nutsert 20
d=6 plastic washer, 20

black

11



iTK

Perforated doors composition pcs
~ Perforated door 1
S assembly
'“*I
|
b
— i
L]
@jﬁ Tension stick ]
Lock 1
" Fastener of round 2
Iz‘v tension stick
0@
Support 4
Disassembled hinge 2
M6x20 screw 4

¢y

12




5
A

Perforated double-leaf doors composition

pcs

Py

Perforated swing door
assembly with lock

Sl
[\) Perforated swing door |1
assembly without lock
\

Door stop

Tension stick

13



Set pcs

M6x20 screw 10 14

Lock 1

Fast r of round 2

tension s tick

Support 4

D mbled hing 4 6
pcs

Side panel assembly 2 4
pcs

Cover assembly with
plugs

—_

14



SAFETY MEASURES

All work must be carried out with the use of
a serviceable tool in compliance with safety
regulations.

INSTALLATION PROCEDURE

To assemble the cabinet, you will need a
cross-head screwdriver, a 19/10 wrench.

Step 1

Unpack the components of the product with
the use of a locksmith knife. Cut the package
carefully so as not to damage the protective
coating of the parts in the package.

Cover installation

Step 2

Install the cover with plugs on the assembled
frame.

Fix the cover with M6x20 countersunk screws
through the countersunk holes in the upper
parts of the frames.

DOORS ASSEMBLY

Step 3
Take two parts of the hinge and its axis from
the door kit.

15




ImK

Step 4

Install the first part of the hunge on the frame
by screwing the M6x%20 countersunk screws
into the countersunk rivets on the frames.

To assemble the doors with the lock, perform
steps 4-6.

Step 5
Insert the lock into the square fitment holes,
secure the lock with clamps.

Step 6
Screw the supports onto the studs and install
the tension sticks in them.

Step 7

Secure the crossbar in the the lock with a

bolt. Put the adapters on the crossbar rods,
fasten them with nuts. Insert the tension sticks
into the adapters, tighten the bolts on the
adapters.

16

ar7




Step 8
For a door without a lock, install the stop by
tightening M6x20 countersunk screws.

Step 9
Install the opposite part of the hinge onto the
door with the screws included.

Step 10

Install the doors on the movable parts of the
hinges using the axes of the hinges included
in the set.

Lock the door. With proper installation, the
door shall rotate smoothly and shall lock
without much effort.

INSTALLING SIDE PANELS

Step 11

Install the side panels by aligning the round
holes in the lower parts of the side panels

with the heads of M5 screws included in the
connecting profiles (procedure A).

Lock the panel by simultaneously pressing the
latch locks (procedure B), move the lock tab to
the «closed» position.

17




ImK

Step 12

At the end of the assembly, install the supports
and align the cabinet by adjusting them

in height. Then follow the recommended
procedures:

— check the serviceability of the locks, latches,
by making a couple of cycles of opening and
locking;

- snap off the side panels after opening the
locks, repeat the operation in reverse order;

— check the removal-installation cycle of the
side panel by opening the locks and removing
the panel from the enclosure, and then
repeating the operation in reverse order.

With proper installation, these operations shall
performed without much effort and jamming.

Step 13

Upon completing the preparation of the
cabinet for operation, install the grounding
circuit.

To attach the grounding wires to the mounting
profiles, use M6x15 screws and M6 nutserts.
Connect one end of the ground wire to the
connector on the front door, and the other one
to the connector on the vertical profile. Repeat
the steps for the remaining doors.

Connect one end of the ground wire to the
cover connector, the other to the nearest
vertical profile.

Connect one end of the ground wire to the
connector on the side panel, the other to the
nearest vertical profile connector. Repeat the
steps for the remaining side panels.

Connect one end of the ground wire to the
mounting profile, the other to the nearest
connector on the vertical profile. Repeat these
steps for the remaining mounting profiles.

18




m LINEA CEPUATBI CEPBEPIIIK LUKA®

MoHTaxpay xeHiHaeri HyCKaynbIK,

LS05/35.001.2.MM

5
A

LikadhTbIH, Kypambl 24U ,33U 42U, 45U, 48U
OuikTirimeH 6uikTirimeH
Kapkac AaHa
Kapkac XWUbIHTbIfbI 1
N2 1 XMBIHTBIK, haHa
i Tipek M12x90 6
Tanbanay 3atbenrici 4
52U
Ne 2 XUbIHTbIK, faHa
s >Kepre Kocy CbIMbl 4
30 cm anmansol-
canmarbl xxaHe
cakuHanbl yWTbIKTap
XKepre kKocy cbiMbl 9
= 30 cm anmarnbl-
canmarnbl yLWTbIKTap
Kepre kocy 6enrici 26

19



A

Ne 3 KMbIHTbIK, fAaHa
Bypanaa M6x15mm 10
& Toceme combiH M6 50
QD
Bypanga M6x20 10
A\ BypaHpa M4x8 10
NO 4 XMbIHTbIK, fAaHa
g BypaHaa M6x15mm 20
= Toceme comblH M6 20
ﬁll
wanba d=6 nnacrt. kapa | 20

20



lMepchopaumsnanFaH ecikTiH, Kypambl faHa
Ecik Tecinren 1
o~
\ XUHaKTa
'“*I
|
b
— i
L]
D TapTKbiL 1
Kynbin 1
‘— [eHrenek TapTKbIWThbI 2
7\ BekiTy
0@
Tipek 4
@)
BenwekTenreH inmek 2
Bypanaa M6x20 4

21



ImK

EcikTiH, KypaMbl TecinreH Koc awnanbl

AaHa

YKnHakta kynnol 6ap 1
E’\\\P TecinreH ankapa
L i albInaThiH ecik
ul
g i
;
o)
['\ 5
S
YKnHakTa Kynmnbl )oK 1
[\’ TecinreH aiikapa
M allbinaTbliH ecik
4|
Ecik TasHbILWbI 1
TapTKbiL 1

22



XUBIHTBIK, faHa
- Bypanaa M6x20 10 14

Kynbin 1

[eHrenek TapTKbILWTbI 2

GekiTy

Tipek 4

BenwekTenreH inmek 4 6
faHa

Bynipnik TakTa XunHakta |2 4
faHa

KunakTa GiTeyiwi 6ap
Tebe

-

23



ImK

KKAYINCI3AIK LWWAPANAPDBI

Bapnblk X)XyMbICTap TexHWKa Kayinciaairi
epexenepiH cakran oTblpbin, Kapamabl Kypan-
cariMaHMeH Xyprisinyi Tuic.

MOHTAXOAY TOPTIBI

LLikadpTbl KypacTbIpy YLUIH Ci3re ankpbiL
Gyparbil Byparbiw, 19/10 COMbIH KiNTi KaXeT.

1 Kapam

Cnecaprblk NbilwakneH KOMNOHEHTTepAi
alwblHbI3. KanTamagarbl 6eniktepai kopraHbILu
»abblHbIHa 3aKbIM KeNTipMey YLUiH kanTamaHbl
MYKUAT KECIH3.

TebeHi opHaTy

2 Kapam

KunanraH kapkacka 6iTeyiwi 6ap TebeHi
OpPHaTbIHpI3.

TebeHi M6x20 xacblpblH 6ypanaanapbiMeH
KakTayablH, XKOoFapFbl 0enikTepiHaeri xxacblpbliH
TecikTep apKbinbl GeKiTiHi3.

Eciktepai xuHay

3 Kapam
ECiK XXUbIHTbIFbIHAH iNMEKTIH, eki 6eniriH xoHe
OHbIH OCiH anbiHbI3.

24




4 kapgam

Kapkacka inMeKTiH OH XafblH XakTayaafbl
»acbIpblH TOMTapmanapfa, xacblpblH M6x20
HypaHaanapbiH Gypan opHaTbIHbI3.

Kynnbl 6ap eciktepgi )uHay yLiH 4—6
Kagamaapabl opblHAAY Kepek.

5 Kapam
KynbInTbl OTbIpFbI3y TOPTOYPLILLTHI TECIKTEPrE
canblHbI3, KYNbINTbl KbICKbILUTAPMEH BEKiTiHj3.

6 Kagam
TipekTepai TynpeyiliTepre OypaHpl3 xaHe
onapfa TapTKbILTbl OPHATbIHbI3.

7 Kapam

BonTTbIH kKeMeriMeH KynbINTbIH, pUrenbiH
OekiTiHi3. AoanTepnepgdi purenbAiH e3eriHe
KUri3iHi3. Agantepnepre TapTKbiTapabl
canblHbI3, aganTtepnepaeri bonTrapabl
TapTbIHbI3.

25




ImK

8 Kapam
Kynnbl oK ecikke )acblpblH M6x20
6ypaHaanapbiH 6ypan TipeyilTi opHaTbIHbI3.

9 Kagam
Ecikke inMekTiH Kapcbl 6eniriH OHbIH, KypamblHa
KipeTiH OypaHaanapMeH OpHaTbIHbI3.

10 kagam

EcikTi inmMek XXunHafblHa KipeTiH OCTiH KeMerimMeH,
inmexTiH Ko3Fanmanbl 6enirive opHaTbIHpI3.
EcikTepai inMeKTep XUbIHTbIFbIHA KIPETiH
ocbTepiH kKeMeriMeH inMeKTepaiH XblmKbiManbl
GenikTepiHe OpHaTbIHpI3.

EcikTi Kynbinka xabbiHpI3. [lypbiC OpHaTbInFaH
Ke3fie ecik Oipkenki aiHanaabl, ken KyLu
Kymcaman Kynbintanagbi.

Bywipnik naHenbaepai opHary

11 Kapam

Byvipnik naHenbaepai 6yvipnik naHenbAepaiH
TeMeHri 6enikTepiHaeri AeHrenek Tecikrepai

M5 6ypaHaanapblHbiH 6acTapbiMeH GipikTipy
apKbInbl OPHATbIHbI3 (A apekeTi).
Kynbin-6ekiTkiwTepai 6ip yakeiTTa 6acy apkbinbl
naHenbi xkabbiHbI3 (B apekeTi), KynbINTbIH,
TiMiH»XabbIK» KyWiHe ayaapblHbI3.

Kapam 8

Kagam 11

26



12 kapam

KypacTtblpyablH COHbIHAA TipekTepai
OpHAaTbIHbI3 XoHe LWKadTbl OMikTiri 6oMbIHLWA
peTTeHi3. CoaaH KeliH yCbIHbInFaH apekeTTepai
OpbIHAAHbI3:

— KynbInTapabliH, 6eKiTKil KynbinTapbiH ekKi

peT aLuy-KyJbInTay LMKIIbIH acay apKbirbl
TEKCEPIH3;

— KyNnbIiNTapAbl allkaHHaH KeriH naHenbaepai
OyMipaeH cinTeHi3, apekeTTi kepi peTneH
KanTanaHbi3;

— ByWnipnik TakTaHbl anbIn TacTay-opHaTy
LMKIbIH KyNbINTapabl allbin, naHernbAi
KOPNYyCTaH LWblFapbIn, coAaH KeniH apekeTTi kepi
peTneH KaTanaHb3.

[ypbic opHaTy ke3iHae 6yn onepauusnap ken
KYLL NeH kenTenicci3 opbiHAanaap.

13 Kagam
LLkacpTel NanganaHyra gansiHaay
asikTanfaHHaH KeWiH, Xepre Kocy TizberiH
OpHaTbIHpI3.
>Kepre Kocy cbiMaapblH MOHTax
npocdunbaepiHe 6ekiTy ywiH M6x15
6ypaHaanapbiH xaHe M6 eHgipinreH
XaHFakTapAbl KOnaaHbIHbI3.
>Kepre Kocy CbIMbIHbIH Bip yLUbIH anapiHfbl
eciKTeri )anfarbILKa, ekiHLWici Tik npocunbaeri
XanrarblLKa xanfaHbl3. KanfaH eciktep yLuiH
KanTanaHbi3.

Xepre Kocy CbIMbIHbIH, 6ip yLUbIH TEOEHIH
arnFarbllblHa, eKiHLi YLIbIH €H XXaKblIH TiK
npodunbre xanraHbi3.
>Kepre Kocy CbIMbIHbIH 6ip yLUbIH By1iprik
TakTafarbl XanfarblllKa, eKiHLICIH eH, aKblH
Tik Npodhunb XanfafbllKa xanfaHbi3. KanfaH
Oymipnik naHenbaep YLiH kakTanaHpl3.
>Kepre Kocy CbIMbIHbIH Bip yLUbIH MOHTaXaay
npoduniHe, eKiHLWICIH Tik Tpodunbaeri ex
XaKblH XanfafblLLKa xanfaHbi3. KanfaH
MOHTaxaay npodunbAepi yLiH ocCbl
KagaMmaapabl kKantanaHbi3.

27

Kapam 12




ImK

) A®A CEPBEPHA CEPII LINEA S

IHCTPYKLifA i3 BCTaHOBMEHHA

LS05/35.001.2.MM

Cknap wacdwm Bucototo Bucototo
24U ,33U 42U, 45U, 48U
Kapkac WT.
Kapkac y 36opi 1
Komnnekt Ne1 WT.
Onopa M12x90 6
ETuketka mapkyBanbHa |4
52U
Komnnekt Ne 2 WT.
MpoBig 3a3eMrneHHs 4
& 30 cm po3’eMHUI Ta
KiNbLEBUIN HAKOHEYHUK
MpoBig 3a3emMneHHs 9
== 30 cM i3 po3’eMHUMK
HaKOHeYH1KaMm
3Hak 3a3emMneHHs 26

S

28



YyopHa

Komnnekt Ne 3 WT.

BUHT M6x%15MMm 10

[aika 3aknagHa M6 50

- BMHT M6%20 10

\ BUHT M4x8 10
&

Komnnekt Ne4 WT.

E BUHT M6x15MMm 20

= lanka saknagHa M6 20
ar

Wwanba d=6 nnacr. 20

29



ImK

Cknap pBepi nepdopoBaHi WT.
- ﬂBep_i nepdopoBaHi B 1
\ 360pi
ﬂl
i

Tara 1
3amok 1
KpinneHHs kpyrnoi taru | 2
Onopa 4
Metns posibpaHa 2
BuHT M6x%20 4

30




Cknap aBepi nepdopoBaHi ABOCTYNKOBI

[Bepi nepcdoposaHi
= [BOCTYIKOBI B 360pi i3
i 3aMKOM
ul
i
;
|
['\ A
S
- [Bepi nepdoposaHi 1
[\’ [BOCTYNKOBI B 360pi 6e3
3amMka
4|
Tara

31

N




ImK

Komnnekt WT.
- BrHT M6x20 10 14
3amok 1
KpinneHHs kpyrnoi tarm | 2
Onopa 4
MeTna posibpaHa 4 6
N,
KomnnekT 6i4HOi CTiHKM WT.
MaHenb 6iyHa B 36opi |2 4
‘
Mokputta : wT.
MokpuTTsa y 360pi i3 1

3arnyuKamm

32



3AXOAW BE3MNEKU

Yci pob0oT1 NOBVHHI NPOBOAUTUCS CNIPaBHUM
iHCTPYMEHTOM i3 AOTPMMAHHAM MPaBUIT TEXHIKM
6esnekn.

NOPAA0K MOHTAXY

[ns cknagaHHs wadv Bam 3HagobuTtbes
XpecToBa BMKpYyTKa, rankosui krnoy 19/10.

Kpok 1

Po3nakyBaHHS KOMMMEKTyo4mMx BUpoby pobiTbh
CrnocapHUM HoxeM. Po3pizaHHs ynakoBku
pobiTb 06epexHo, Wob He NOLIKOAUTU 3aXUCHE
NOKPUTTA AeTanen B ynakoBsLi.

MoHTax noKpuTTS

Kpok 2

Ha 3ibpaHuii kapkac BCTAHOBITb NOKPUTTS i3
3arnyLKamu.

3adpikcyiiTe NOKPUTTS NOTaNHUMK FBUHTAMM
M6x20 4yepes noTanHi OTBOPY Y BEPXHIX
YacTuHax pam.

CknapaHHs asepei

Kpok 3
BisbMiTb i3 KOMNNEKTy ABepen ABi YaCTUHN
netni Ta ii Bicb.

33

&




ImK

Kpok 4

Ha kapkac BCTaHOBITb NepLUy YacTuHy neTni,

3aKpyTUBLLM NOTaMnHi rBUHTU M6x%20 y noTanHi
3aKrnenku Ha pamax.

[Ina cknagaHHA ABepew i3 3aMKOM HeobXxiaHO
BVIKOHaTV KPOKM 4—6.

Kpok 5
BcTaBTe 3amMoK y KBagpaTHi NOCaaKoBi OTBOPH,
3aKpiniTb 3aMOK NPUTUCKaAMK.

Kpok 6
OI'IOpl/I HaBepHin Ha WNUIbKN Ta BCTAHOBITb y
HUX TArN.

Kpok 7

3akpiniTb purenb Ha 3amKy 3a JOMOMOro
6onTta. HagsrHitTe agantepu Ha CTepXHi purens,
3akpiniTe rankamu. BctasTe Taru B agantepu,
npuTarHiTe 6onTn Ha aganTepax.

War 7

34



Kpok 8
[ns nBepei 6e3 3amMka BCTAHOBITb ynop,
3aKpyTUBLUM NOTamHi rBUHTU M6x20.

Kpok 9
BcTaHoBITh BigNOBigHY YacTWMHY NeTni Ha ABepi
rBUHTaMW, LLIO BXOAATb A0 1T cknaay.

Kpok 10

BcTaHoBITL ABEPi HA PyXOMi YacTUHU neTenb
3a 10MOMOrOI0 OCeli NeTenb, WO BXOASTb A0
KOMMIEKTY.

3akpuiiTe ABepi Ha 3amok. [Mpu npaBunbHOMY
MOHTaXi ABepi pyxaroTbCs NNaBHo,
3amMuKatoTbes 6e3 0cobnMBUX 3yCunb.
YcTtaHoBka 6i4HUX naHenewn

Kpok 11

BcraHoBiTh GiYHi naHeni, cymicTMBLUM Kpyrmi
OTBOPU B HWXKHIX YacTuHax BiYHUX naHenemn 3
rorioBkamu reuHTiB M5, Lo BXoAATb A0 cknagy
3’egHyBanbHUX npodinis (s A).

KnauHiTb naHenb, 04HOYACHO HaTWUCHYBLUW Ha
3aMKU-3ackoYkm (gis B), nepeBeaiTb A3U40K
3aMKa B MOMOXEHHS «3aKpUTO».

35




ImK

Kpok 12

lMicns 3akiHYeHHs cknagaHHA BCTAHOBITb ONopu
Ta BUpiBHANTE Wwady, BigperynoBasLLn ix

no Bucori. MoTim BUKOHaNTe pekoMeHaoBaHiI aji:
— nepeBsipTe CNpaBHICTb 3aMKiB, 3aMKiB-
3aCyBOK, 3p0OMBLUM Napy LMKNIB BiAKPUBaHHSA-
3aMVIKaHHS;

— BigKknauHiTe naHeni 6ivHi, nonepeaHbo
BiKPVBLUM 3aMKK, NOBTOPITb onepawiio y
3BOPOTHOMY MOPSAKY;

— nepeBsipTe LMK 3HIMaHHSA-yCTaHOBKM BivHOT
naHeni, BiAKPVBLUN 3aMKM | BUAHSIBLUW MaHenNb
3 KOprycy, a MoTiM MOBTOPMBLUM onepaLlito y
3BOPOTHOMY MOPSAKY.

Mpv NpaBUNbLHOMY MOHTaXi Ui onepauii
BVKOHYIOTbCS 6€3 0CcobnMBMX 3ycusb i 3aigaHb.

Kpok 13

Micna 3aBepLUEeHHS NiaroToBkM Wwacdm

0o ekcnnyarauii 3pobiTb MOHTaX KOHTYpY
3a3eMIIeHHs1.

[nsa KpinneHHsA NpoBOAiB 3a3eMMEHHSA

[0 MOHTaXHWX NPOdiniB BUKOPUCTOBYNTE
rBUHTK M6x15 Ta 3aknagHi raiku M6.
lMpuegHanTe oamH KiHeLb NPOBOAY 3a3eMIEHHSs
00 po3’eMy Ha nepegHix ABepsX, iHWNA —

[0 po3’emMy Ha BepTuKarnbHOMY Npodiri.
MoBTOPITL Al A4NS iHWKX aBepeN.

lMpuegHanTe oavH KiHeub NpoBoay
3a3eMreHHs 40 po3’eMy MOKPUTTS, iHLWINIA —

00 Hanbnuxkyoro BepTUKanbHOro npodinto.
lMpuegHanTe oamH KiHeLb NPOBOAY 3a3eMIEHHSs
00 po3’emy Ha BiyHil naHeni, iHWniA

[0 Hanbnmx4oro po3’eMy BepTUKarbHOIO
npoginto. MoeTopiTk Ail Ans 6i4HMX NaHenen,
LLO 3anuwmnucs.

lMpuegHanTe oamH KiHeLb NPOBOAY 3a3eMIEHHSs
[0 MOHTaXXHOro Npodinto, iHWKN

[0 Hanbnmx4oro po3’eMy Ha BepTUKaNbHOMY
npocpini. MoBTOPITbL Ui AiT AN MOHTaXHMX
npocpinis, Wo 3anuwmnucs.

M3paHue / Edition / Bacbinbiv / BuaaHHs 1

36




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9
	Страница 10
	Страница 11
	Страница 12
	Страница 13
	Страница 14
	Страница 15
	Страница 16
	Страница 17
	Страница 18
	Страница 19
	Страница 20
	Страница 21
	Страница 22
	Страница 23
	Страница 24
	Страница 25
	Страница 26
	Страница 27
	Страница 28
	Страница 29
	Страница 30
	Страница 31
	Страница 32
	Страница 33
	Страница 34
	Страница 35
	Страница 36

